L@le Installation Instructions
‘ . . Brax Upholstered Stool

Leick H d brand of DHI Corp.

HOINE e ome s a registered brand © o Models 10087-BBHG, 10087-BLKGL

SINCE 1910

Your new Leick Home barstool will give you years of trouble-free performance.
Thank you for choosing our product for your home. Please read carefully /

and save these instructions, as you may need them at a later date.

Required Tools / /

* Phillips Screwdriver f

What’s in the box

yﬁiﬂg Q ChairBack [ -“:'7:"[ O seat Pad

e e Side Stretchers L & R x2

[

% Q Front Stretcher
@ G Front Legs x2 Scan for Installation Video

[t @ 1/4in *1-3/4 in Bole

UDW @ 1/4in*2-1/4 in Bolts x4

[Domesy @ 1/4in %3-1/4 in Bolts x4

@ 0 Lock Washers x9

@ @ Flat Washers x9
@ KW o 8%[-3/4 in Screws x6
Steps to Install

I. Before installation, carefully unpack and identify all parts.
m Allen Wrench

2. Place chair back (A) on a flat surface. Using a 1-3/4 inch bolt (G), lock
washer (J), flat washer (K), and Allen wrench (M), secure back center of
seat pad onto chair back (A). Do not tighten bolts.

3. Using a 3-1/4 inch bolt (1), lock washer ()), flat washer (K), and Allen
wrench (M), securely fasten back comers of seat pad (B) to chair back (A).
Do not tighten bolts.

Continued on next page

FollowUsonSocial @ @ © [ @ Rev - 07/2024

DHI Corp. reserves the right to make changes in materials, specifications & models at any time. DHI Corp. also reserves the right to discontinue product without notice or obligation.

Design House Inc. .518.1877 « www.todaysdesignhouse.com

@a)
DESIGNHOUSE



Installation Instructions

Leick
11{ng Leick Home is a registered brand of DHI Corp. Brax Upholstered Stool

Models 10087-BBHG, 10087-BLKGL

SINCE 1910

- | ::.‘ '\\\
|
X
| |
|
G
4. Place chair assembly upside down on a table. 8. Place the chair right side up on an even surface and tighten all bolts when all

} legs are properly leveled.
5. Insert 2 side stretchers L & R (C) into back leg holes. Make sure left (L)

and right (R) sticker matches sticker on seat pad (B) before attaching 2
front legs (E).

6. Insert front stretcher (D) between 2 front legs (E). Make sure 2 front
legs (E) stickers match stickers on seat pad (B) frame before securing 2
front legs (E).

7. When all stretchers are in place and all legs are properly leveled, secure seat
pad (B) using 2-1/4 inch bolts (H), lock washers (J), and flat washers (K)
with Allen wrench (M). Do not tighten bolts.

9. Using a Phillips head screwdriver, fasten side stretchers L & R (C) and front
legs (E) with 1-3/4 inch screws (G). Do not over-tighten.

FollowUsonSocial @ @ © [ @ Rev - 07/2024

DHI Corp. reserves the right to make changes in materials, specifications & models at any time. DHI Corp. also reserves the right to discontinue product without notice or obligation.

Design House Inc. .518.1877 « www.todaysdesignhouse.com

(a8l
DESIGNHOUSE




